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#include<bits/stdc++.h>
using namespace std;
void dfs(int n, int p){
if(n==1) return;
if(n%kp == 0){
cout << p <<" "; int main(){
dfs(n/p,p); int n;
}else{ cin >> n;
dfs(n,p+1); dfs(n,2);
} return 0;
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a = b(modm)
LmAREELa-bES, WA Ha, bW ENnARE &, L
a Z b(modm)

29 = 2(mod9) 161 # 0(modS8)

93 = —7(mod50) 257 # 16(mod 32)
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b = c(modm

22 = 13(mod3) 22 = 10(mod3)
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13 = 10(mod3)
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1C{E: a=b (mod m),

BEME:. aEl&TFbiEm, FiE{EFaS5bxfiEmEgk, B0 26=2(mod 12),
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E&AABM: Fasb(mod m), c=d(mod m), Na+c=b+d(mod m);
E&A M. Fas=b(mod m), c=d(mod m), Njac=bd(mod m),
Mz E: ftn&a =b (mod m), ¢ = d (mod m), B4

(1)a + c=b + d (mod m)

(2)a * c=b *d (mod m)
#IizH: WRa = b (mod m), FHAa*n = b*n (mod m)

33 = 21(mod3)

22 = 13(mod3)

11 = 5(mod3)
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int a, b; int a, b;

cin >> a >> b; cin >> a >> b;

int n = 1; int n = 1;

for(int i = 1; i <= b; i for(int i = 1; 1 <= b; i++)
n = n*a; n = n*ak7;
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0118 =zl 11 x 11 x 11 = 1331

int a, b;

cin >> a >> b;

int n = 1;

for(int i = 1; 1 <= b; i++)
n = n*a%lo00;
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Talk is cheap, show me the code !







